3anuTyeMo Ta BiANOBIAAEMO y 110 OASATHEHA JIKOIUHA

Jig Toro, m1o0 3anuTaTy Mpo Mpo Te, Y 110 OJITHEeHA JI0ANHA, TOTPIOHO
BHUKOPHUCTATH Ji€CTIOBO “t0 De”, Ha3BaTH JIOAMHY, JI0JIaTH CIIOBO «Wearingy», a moTim
HA3BATH OJIAT.

Skimo mu 6akaeMo 3aMMTaTy y MO OJATHEHI MU caMi, TO MOTPiOHO cKa3aTh «Am
| wearing», a moTiM Ha3BaTH OIAT.

Am | wearing + oxsr?

Hanpuxnao: Am I wearing a blue jacket? (I onsiruena y 61akuTHul miaxak?)

J11st TOrO, 100 3aNMKUTATH Y 110 OJIATHEHA 00Ha F00uHa NOTPIOHO cka3atu “IS”,

HA3BaTH IO JIOAUHY 1 JOJaTH CJIOBO «Wearingy», a moTiM Ha3BaTH OJSAT.

Is he, she, it wearing + ozgsr?

Hanpuxnao: 1s Bob wearing green sandals? (bo6 onsiruenuii y 3esieH1 canani?)

Jist Toro, o0 3anMuTaTH y 10 OJATHEH1 JeKiibKa 1i0deil TOTPIOHO BUKOPUCTATH
CIIOBO “Are”, Ha3BaTH Irepoi, J0JaTH CJIOBO «Wearing», a moTiM HA3BaTH OJAT.

Are you, we, they wearing + omasar?

Hanpuxnao: Are they wearing shorts? (Bonu oasfraeni y moptu?)
Jlns Toro, mo0 cka3aTw, 10 MU He O/IsITHeHi Y AKUICH O/IsIT IIOTPIOHO /10
nieciiona “to be” nomaTm “not”.

| am not wearing + oxsr.

Hanpuxnao: | am not wearing a blue jacket.

You, we, they are not wearing + osr.




Hanpuxnao: They are not wearing green sandals. ©

He, she, it is not wearing + ozsr.

Hanpuxnao: He is not wearing shorts. |

Ilpuzaoai! B aHrniiicbKik MOBI, TaK K 1 B YKpaiHCBKIH MU MOXEMO JaTH HOGHY a00
KOpOmMKY 8i0n06i0b HAa 3aTIUTAHHS.

Hanpuxnao: Are you wearing a cap? (Bu ofsTHeHi y Kenky?) <=
Yes, I am. I am wearing a cap. (Tak. §l onsirHeHa y KenkKy.)
No, [ am not. [ am not wearing a cap. (Hi. fl He oasirHEHa y KeTKY.)
Is he wearing a cap? (Bin ogsirHeHHit y Kenky?)
Yes, he is. He 1s wearing a cap. (Tak. Bin onsirHeHuil y Kenky.)
No, he isn’t. He isn’t wearing a cap. (Hi. Bid He ogsrHeHuil y KemKy.)



